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BEAns 74 | (A) | 85| 4] 26 .49 ____ 944 8| ____ L] 287_
3HEE | (%) 29. 6 4.9 9.1 17.0 32.8 2.8 3.81 100.0
BEANs8 | (A) | 95| 251 . 34 45 . 914 ___15] ____ 10 ___ 315_
3HEE | (%) 30.2 7.9 10.8 14.3 28.9 4.7 3.21 100.0
iEA594E | (N) | 81| 191 ____ 481 33| ____ 97 14 ____ L] ___ 303_
3HFE | (%) 26.7 6.3 15.8 10.9 32.0 4.6 3.6 100.0
BEFn60 | (A) | 99| . : 24 1. 441 30 ____ 81| .20 ____ 13 ___ 311
3HFE | (%) 31.8 7.7 14.2 9.7 26.0 6.4 4.2 1 100.0
IEFTOE N NONN Y 25 1 . 64 ___40] ____ 84| 19 ____ 13 ___ 324
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irne2 | (A) | 51| . 17 . 55| 34l . 56 | 14 . L] 238_
3HEE | (%) 21. 4 7.2 23.1 14.3 23.5 5.9 4.6 1 100.0
IEFIGEE NN O N EA 21 59| 22 ____ 64 11 ] ____ 2] ___ 226_
3 HA3E %) 16. 4 9.3 26. 1 9.7 28.3 4.9 5.31 100.0
et | CA) | 2T | 20 . 36| ____ 12 ____ 51 12 ____ 13 ___ 171_
3HEE | (%) 15.8 11.7 21.2 7.0 29.8 7.0 7.61 100.0
2 | CA) oo 20 ] 24 | . 39| ____ 9] ____ ST 2] ____ 4] ___ 195_
3HEE | (%) 12.9 15.5 25.2 12.2 23.9 1.3 9.0] 100.0
e 34 | CA) Lo 19 10]_____ 38 ¢ 91 ____ 41 | A 81.___ 129_
3HFRE | (%) 14.7 7.8 29.5 7.0 31.7 3.1 6.21 100.0
Rk dd | (AN o 16| 191 ____ 451 . 10 45 | 3| 51 143_
3HFRE | (%) 10.5 13.2 31.5 7.7 31.5 2.1 3.5] 100.0
R 5 | (A o 16 121 ____ 401 4l . 344 0] . 51 111_
3HFRE | (%) 14.4 10.8 36. 1 3.6 30. 6 0.0 4.51 100.0
Rk 64 | (A 10| . 121 ____ RV 0 3 3 61 ____ 92_
3HEE | (%) 10.9 13.0 40. 2 12.0 14. 1 3.3 6.5 1 100.0
e 7 | CA) |13 4] 46 | 40 4 7 0] ____ 98_
3HEE | (%) 13.3 14.3 46.9 4.1 14.3 7.1 0.0] 100.0
R 844 | (A) | 8. 151 ____ 46 | 3] 102 ___ /% 96_
3HEE | (%) 8.4 15.6 47.9 13.5 10. 4 2.1 2.11] 100.0
KRN R 6] ____ 421 0] ____ B3 2 _____ I 96_
3HEE | (%) 12.5 16.7 43.8 10. 4 13.5 2.1 1.0] 100.0
P10 | CA) | 13| 210 . 53 Al [ R 3 D 01____ 102_
3HFRE | (%) 12.7 20.6 52.0 3.9 6.9 3.9 0.0 100.0
PR [N oo 18 T .. 55 | Al 9 1] _____ I 95_
3HFE | (%) 18.9 7.4 57.9 4.9 9.4 1.1 1.1] 100.0
R4 | (A o 19 0] ____ 54 Al 20 .6 _____ I 96_
3HFE | (%) 19.2 10. 4 56. 2 4.9 2.1 6.3 1.0] 100.0
PR3 | (AN | 17 121 ____ 68| ___ 51 . /% I W D 41 109_
3HEE | (%) 15.6 11.0 62. 4 4.6 1.8 0.9 3.7 1 100.0
4 | CA) | 16 18] ____ 56 | ¢ 40 L4l - 41 ___ 102_
3HEE | (%) 14.7 17.7 54.9 3.9 1.0 3.9 3.9] 100.0
16 | CA) | 1] 3] ____ 2| ( 0l ____ 20 0] ____| 0] ____ 78._
_3}%5% %) 14. 1 16.7 66. 7 0 2.5 0 01 100.0
k16 N Lo 1A 6] ____ 51| - 2 R0 I O B 51 ____ 92_
33_}%5% (%) 15.2 17.4 55. 4 2.2 3.3 1.1 5.4 1 100.0
TRkl 7 KON N 221 491 ) 4 1] 0f ___ 99_
3%% (%) 21.2 22.9 19. 5 2.0 4.1 1.0 01 100.0
J-Rk18 HONN N 191 ____ 50 [ Ll . O 1] _____ Ll ____ 88._
3 [ 752 (%) 18.2 21. 6 56. 8 1.1 0 1.1 1.1 100.0
T-Rk19 N Lo 12 18] ____ 59 | ] Ll 0l ____ 2] _____ Ll ____ 93_
3%% (%) 12.9 19. 4 63. 4 1.1 0 2.1 1.1 100.0
T-1k20 HONN N A 7] 491 . ) T N 0f ____ 87
3HEE | (%) 19.5 19.5 56.3 2.3 1.2 1.2 01 100.0
21 | CA) | 16 6] ____ 64| ____: 20 . 20 .3 . I 104_
3 Hx3E %) 15.4 15. 4 61.5 1.9 1.9 2.9 0.9] 100.0
22 | CN) | 17 94 ____ 66| ____: 31 . L2 0] ____ 98_
3HEE | (%) 17.3 9.2 67.3 3.1 1.0 2.0 0] 100.0
234 | CA) oo 23] 7] 4 20 . I I U 0].___ 117_
3HEE | (%) 19.7 14.5 63.2 1.7 0.9 0 0] 100.0
24 | CAN) | 31| 7 63 [ ____( 0l ____ 0.0 _____ I 117_
3z | (%) 26. 5 18.8 53. 8 0 0 0 0.91 100.0
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